Warm Up (5 mln) — yes it’s a short one

We don’t waste time on the path to success
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Rational vs. Irrational
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Rational vs. Irrational

Irrational
17& C) Ahs Nuwboer +4hat Can m“

be LitiHen 63 o Ratis of ivd«y:ﬂ.

Definition: Elhustration:

_C}

(Exomples: [Mon-Examples:

def. ex.

S
EKM?\G ) / D‘Ct;wﬂ-“ lr-l'fk \‘Ub P._de'“ Mé

ho end

T=3.0Yi5 .- -

G i o

Rational vs.

Closure for Addition /
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Rational vs. Irrational

Be rational)
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Closure for Multiplication
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Rational vs. Irrational

This picture has a height of 4/5 inches

and a width of V5 inches. Isthe
picture’s area Irrational or Rational?
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Pop Quiz

This secret box has a height of 2v/3
inches and a width of 4v/3 inchesand a
length of 2 inches. Isthe volume Irrational _

or Rational?
Note:
Volume = Heié{u: - Width + Length
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Calo®
1. lIrrational numbers are closed under addition. Q‘“

2. Rational numbers can be multiplied together in a way to get an Irrational number.
3. Anirrational numbers times a rational number is always irrational.

Exponent Review




=
| W

Exponent Review

—6 . 26 -6 4y |




Exponent Review

The factors of 108. Answer : 1,2,3,4,6,9,12,18,27,36,54,108,
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Exponent Review

53 = 125 The factors of 125: 1 ,5,25,125,

5% = 625 The factors of 625: 1,5, %5 125,625,
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53 = 125 - //
The factors of 125 : 1,5,25,125,
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Like Terms

7v3 — 85 — 53
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Like Terms
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